
Emlf niAlkfklfvi 

tmizf (304) 

;Dp]i (TMA) 

Kbipfp< :-         mtipfep]f : 20 
1. 'lfla vi[akfkQkfKmf kdfdaymf viAdyqikfkv<mf 

 

2. epyaf,Czlf']f, ;Dp]i']f mbfBmf pad ']fkAq viAdtftaqi[f 

Mtlf pkfk Mkpfp<pf pKtiyilf 'ZTk. 

 

`) pi[fvRmf vi[akfkQqf "Et{mf o[fb{kfKkf (40 Mtlf 60     

 ecabfkQkfK mikamlf) KBkiy viAdyqikfk (2X1=2) 
 

1. kviwrf cibfpi Vriy nizlilf 'tA[pf prmfpArcf ecatfT '[fB 

KbipfpiDkibaaf? 

2. 'pfEpaT tayi[f enwfcilf utirmf cinfTvtakpf parti 

KbipfpiDki[fbarf? 

3. vdfdmayfpfp<bakfkqf PF ;Aby<]fpAt partitac[f 'vfvaB 

vR]ikfkibarf? 

4. k]f]kiyi[f Etabfbmf pbfbi vayibfkavl[f 'pfpFkf Pbi[a[f? 

 

~) pi[fvRmf vi[akfkQqf "Et{mf o[fb{kfKkf (40 Mtlf 60 

 ecabfkQkfK mikamlf) KBkiy viAdyqikfk (2X1=2) 
 

1. tmizf emaziyi[f eta[fAmkfK ;r]fD ca[fBkAqkf KbipfpiDk. 

2. ec[fA[yilf ka]Ev]fFy ;dgfkAqkf KbipfpiDk. 

3. nadfDpfp<b ~dbfkAlkqf cilvbfAbpf pbfbi 'ZTk. 

4. piqfAqtftmizf paDvtbfKriy pRvgfkqf yaAv? 

 

;) pi[fvRmf vi[akfkQqf "Et{mf o[fb{kfKkf (40 Mtlf 60 

 ecabfkQkfK mikamlf) KBkiy viAdyqikfk (2X1=2) 
 

1. t[fvivrkfKbipfpilf ;dmfepb Ev]fFy[ 'Av? 

2. ;ramligfk `Fkqarf tRmcaAlAy 'pfEpaT "[f`Amtftarf? 

3. MtfTeldfCmi erdfF ecAf[yilf EtabfBvitft Amygfkqf pbfbikf 

KbipfpiDk. 

4. `biviylf kdfDAr 'ZTmf MAbpfpbfbikf KbipfpiDk. 

 

 

:) pi[fvRmf vi[akfkQqf "Et{mf o[fb{kfKkf (100 Mtlf 150 

 ecabfkQkfK mikamlf) viAdyqikfk (4X1=2) 
 

1. ;rdfc]iy yatftirIkmf '[fb NaliA[pfpbfbi viqkfkmf tRk. 

2. kdLqf mayfnft ;qmfepRvZti ulkmf niAlepbfbiRpfptbfkak 

PBmf kar]gfkAqkf KbipfpiDk. 

3. “"[f MFyaT” '[fb nadktfti[f AmykfkRtftiA[ 'ZTk. 

4. tmizaf “u]Ev mRnfT” '[fb ekaqfAkyi[rf '[fpAtcf ca[fB Pbi 

'ZTk. 



 

 

u) pi[fvRmf vi[akfkQqf "Et{mf o[fb{kfKkf (100 Mtlf 150       

  ecabfkQkfK mikamlf) viAdyqikfk (4X1=2) 
 

1. padpfpKtiyilf ;dmfepbfBqfq tmizfviDTaT k]f]ikqi[f 

kRtftiA[ 'ZTk. 

2. k]f]ki mTAr m[f[[idmf t[fA['vfvaB `biMkpfpDtftikf 

eka]ffdaqf. 

3. vrlabfB ci[f[mak 'ZTmf EpaT pi[fpbfb Ev]fFy pFniAlkAq 

'ZTk. 

4. v.u.citmfpr[ari[f ;lkfkiypf p]ikqf KbitfT 'ZTk. 

 

U) "Et{mf oRtAlpfpilf (500 ecabfkQkfK mikamlf  ecylftidfdtftiA[ 

  Embfekaqfk (6X1=6) 
   

1. tmizaftmf p]fpadfDcf cibpfp<kqf pbfbi `ylf nadfFlf uqfq n]fpRkfK 

tkvlf kFtmf o[fbA['ZTk. 

2. `Rkilf uqfq plfepaRqgfkaFyi[f Emla]fAmtf etadafpiA[kf 

kv[itfT `bikfAk 'ZTk. 

3. epbfEbaaf p]iyabfBmf `LvlktftibfK `vRd[f ec[fB 

nikzfv<kfKbipfp< 'pfpF 'ZtpfpDkibT '[fB EkdfD 'Ztv<mf. 

4. uAzpfpalf uyrfnft ORvAr Amymakkf eka]fD ciBkAt 

o[fbA[ 'ZTk. 

 


